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ﬁnport turtle \

def drawPolygon(sideLength, numSides, col):
t=turtle.Turtle()
t.color(col)
turnAngle= 360 / numSides
for i in range(numSides):
t.forward(sideLength)
t.right(turnAngle)

drawPolygon(50, 4, "green")
drawPolygon(60, 5, "darkgrey")
drawPolygon(70, 8, "orange")
drawPolygon(15, 30, "red")
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ﬁnport turtle \
t=turtle.Turtle()

def drawPolygon(sideLength, numSides, color):
t.color(color)
turnAngle= 360 / numSides
for i in range(numSides):
t.pendown()
t.forward(sideLength)
t.right(turnAngle)

for i in range(3):
t.penup()
t.setposition(40*i,0)
drawPolygon(20, 6, "blue")

for i in range(5):

t.penup()

t.setposition(40*(i-2),-100)
drawPolygon(40, 4, "violet")
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t.color(color)

for i in range(4):
t.forward(size)
t.right(90)

t = turtle.Turtle()
t.pensize(3)
colors = ['red’, 'orange’, 'yellow', 'green’, 'blue’, 'violet']

=0

for color in colors:
square(t, 30*(i+1), color)
=i+

o /

@ square(t, size, color): \
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ﬂmport turtle

def flower(t, n, r, angle):
for i in range(n):
for i in range(2):
t.circle(rangle)
t.left(180-angle)
t.left(360.0/n)

def move(t, length):
t.pu()
t.fd(length)
t.pd()

b = turtle.Pen()
b.color("darkgreen")
move(b, -100)
for i in range(3):
flower(b, 6, 30.0+(10%)), 60.0)
b.width(2*i)
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/import turtle

def hexagon():
for i in range(6):
turtle.forward(100)
turtle.left(60)

turtle.color(‘red’)
hexagon()

for i in range(6):
hexagon()
turtle.forward(100)
turtle.right(60)
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import random
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>> random.randrange(1,9,1)

Al BHT 7 AL M B] |

. A
=T O
>> random.uniform(1,2)
» Z|AEO[A MENSET|
>> random.choice([1,2,3,4,5,6,7])
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https://docs.python.org/3/library/random.html?highlisht=random#module-random
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random.seed()

random.randrange(start, stop, step) Had =2 YA AIZIC
random.uniform(start, stop) A HeE A ZIC

random.choice(list)
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random.shuffle(list)
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random.sample(list, n)
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https://docs.python.org/3/library/random.html?highlight=random#module-random
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égenerate random integer \

import random
originNumber={]

for i in range(3):
originNumber.append( random.randrange(1,9) )

print(originNumber)

for i in range(5):
originNumber.append( random.randrange(10,100,5) )

kprmt(ongmNumber) -
(1, 7, B]
i1, 7, 8, 50, 55, 55, 45, 50]
T
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ﬂ#generate random float \

import random

for i in range(3):
print("random float from 1 to 2 = ", random.uniform(1,2) )

print("*"*50)

for i in range(3):

print("random float from 11 to 13 = ", random.uniform(11,13) )
\\\¥ el
======= RESTART: E:/1 _Works/2017Work/KMooCZt2| /fExercise
random float from 1 to 2 = 1.7689537205043930
random float from 1 to 2 = 1.47/55918187465653

random float from 1 to 2 1. 422289067065 7807

ol ol ol ol o ol e o ol ol ol e ol e ol ol e ol e e ol e ol ol e ol ol ol e e ol ol ol ol e ol ol ol ol ol ol ol ol ol ol o
random float from 11 to 13 11.920h852847h60h222
random float from 11 to 13 12, 367457580892774
random float from 11 to 13 11, 202247669031486
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ﬂgenerate random value from list

import random
numList=[1,3,5,2.2,1.35,5,9,9.5,11,15,5.7]

fruitList=["apple", "banana", "citrus", "blueberry"”, "blackberry",

for i in range(5):
print("select from numlList = ", random.choice(numList) )

print("*"*50)

for i in range(3):
K print("select from fruitList = ", random.choice(fruitList) )

e -

select from numlist
select from numlist
select from numlist
select from numlist

gelect from numlist g
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select from fruitList =
select from fruitList
select from fruitList
e -
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lemon"]
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/# select random integer without repetition \
import random

random_list = random.sample(range(1,10), 5)
print("random.sample(range(1,10), 5) = ", random_list)

random_list = random.sample(random_list, 2)
print("random.sample(random_list, 2) = ", random_list)

random_list = random.sample(range(5, 90, 4), 10)
\ print("random.sample(range(5, 90, 4), 10) = ", random_list) /

o

======= RESTART: E:/1 _Works/2017Work/KMooCZr=2| /Exercise Code/83A} _Sta=HE 2| py

random. sample{range(1,10), &)
random . sample{random_list, 2)
random. samplefrange(h, 90, 4), 10

ey |

[2, 1, 7, 3, 4]
[1, 3]
)= [61, 17, 65, 77, 49, 13, 9, 29, 25, 45]
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/import random \

def random_picker(lists, number) :
for i in range(number) :
print(random.choice(lists))

.
num_list=[3,1, 7, 11, 25, 5, 4, 9] T RESTART:
random_picker(num_list, 3) %5
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.
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/import random

def gen_random(a,b):

r=random.randrange(a,b) >3

c=chr(65+r) ======= RESTART: E:/1_Works.
pnnt(r, C) ===

i H

for i in range(10) : 5 F

gen_random(i+1, i+10) 3 [
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